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Solution 

Evaluate the following expressions. 

(a) 42 + (12 - 8)

(b) 25 - (2 + 6 x 3)

(c) 27 + 32 + (20 -23
) 

(d) ((44 - 2 X 22
) + 32 + 4) + 2

(a) 42 + (12 -8) = 16 + 4
=4 

(b) 25 -(2 + 6 x 3) = 25 - (2 + 18)
= 25-20 
=5 

(c) 27 -;- 3
2 + (20 - 23

) = 27 + 32 + (20 - 8)

= 27 + 32 
+ 12 

= 27 + 9 + 12 
:= 3 + 12 
:= 15 

(d) ((44 -2 X 22
) + 32 + 4) + 2 = ((44 - 8) + 32 + 4) + 2

= (36 + 32 + 4) + 2 When there are multiple 

operations or exponents 

inside the parenthP.ses, make 

sure you follow the correct 

order of operations inside the 

parentheses as well. 

= (36 + 9 + 4) + 2 
= (4 + 4) + 2 
=8+2 
=4 

Evaluate the following expressions. 

(a) 17 + (21 + 32
) + (5 X 2)

(b) 52 + (48 - 43) x (2 + 3)
(c) (4 2 

- 8 + 2 X 10) + (32 
- 5)

(d) (8 X (64 + 42 
+ 2)) + 62 

+ 4

.: BASIC PR.A.1.:::TILT--: 

1. Write an expression for each of the following
statements. Then evaluate each expression.

(a) 8 more than the product of 14 and 7.
(b) 4 less than the quotient of 36 by 6.

(c) The quotient of 48 by 8 decreased by 6.

(d) The sum of 10 and 5 increased by the
quotient of 45 by 5.

2. Express the following using exponents .

(a) 5 X 5 X 5 X 5

(b) 8 x 8

(c) 10 X 10 X 10 X 10 X 10 X 10

(d) 35 x 35 x 35

3. Evaluate the following expressions.

(a) 252 
(b) 7 x 104

(c) 5 x 32

(d) 82 
- 23 



Solution 

Find the least common multiple of 6 and 8. 

(a) List the first 10 multiples of 6.

(b) List the first 10 multiples of 8.

(c) In the multiples you have l isted, what multiples are

common to both 6 and 8?

(d) What is the least common multiple of 6 and 8?

(a) The first 10 multiples of 6 are 6, 12, 18, 24, 30, 36, 42,

48, 54, and 60.

(b) The first 10 multiples of 8 are 8, 16, 24, 32, 40, 48, 56,

64, 72, and 80.

(c) The multiples that are common to both 6 and 8 are 24

and 48.

6, 12, 18, 24, 30, 36, 42, 48, 54, and 60.

8, 16, 24, 32, 40, 48, 56, 64, 72, and 80.

(d) The least common multiple of 6 and 8 is 24.

Find the least common multiple of 10 and 15. 

(a) List the first 10 multiples of 10.

(b) List the first 10 multiples of 15.

(c) In the multiples you have listed, what multiples are

common to both 10 and 15?

(d) What is the least common multiple of 10 and 15?

f oL russ 
Are 72 and 96 common 
multiples of 4 and 6? Explain. 

1. List the factors of

(a) 64,
3. Find the following.

(a) The greatest common factor of 18 and

24.(b) 48.

2. List the first 10 multiples of

(a) 8,

(b) 16.

(b) The greatest common factor of 36 and

54.

(c) The least common multiple of 5 and 6.
(d) The least common multiple of 8 and 12.
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BASICP 

1. Mentally divide the following.

(a) 84 + 7 (b) 128 + 8
(c) 276 + 6 (d) 600 + 10
(e) 7,000 + 100 (f) 2850 + 50

FURTHER 

2. Evaluate the following expressions.

(a) 28 + 4 + 3 X 24 

3. 

(b) 15 + 4 3 + 2 X 22 
- 8

(c) 53 + (5 X 3 - 10)
(d) 175 - (13 + 72

) + 2
(e) (56 - 2 X 8) + 23 

- 3 + 52 

Fill in the boxes with the appropriate 
numbers. Then check your answer by 
evaluating both sides of the equation. 

(a) 48 + 8 = (48 + ) + (8 + 4) 

(b) 16 + 4 = (16 x 2) + (4 x ) 

4. Mentally calculate the following.

(a) 6,300 + 700 (b) 9,720 + 90
(c) 135 + 15 (d) 306 + 18
(e) 22,500 + 250 (f) 456 + 24

MATH·· WORK 

5. Twelve friends are out for dinner at a
restaurant. Their bill is $216.

(a) How much does each person have to
pay if they share the cost equally?

(b) They want to leave a $24 tip. How much
does each person have to pay including
the tip?

6. A farmer plants one section of a rectangular
field with corn and the other section with
soybeans. The areas of each section and the
width of the field are shown below. What is
the length of the field?

Soybeans 

32km2 

, 

I 

Com 

28 km2 
4km 

-------?km------

7. 

BRAIN \NORl<S 

Sarah said that to solve 90,000 + 18,000, 
she could just do 45 + 9. 

(a) Does her method work? Explain why.
(b) Think of another division expression

that can be solved using a similar
method.

8. You are given the the following expression.

144 + 24 = (144 + ) + (24 + )

(a) Think of at least 3 different numbers

that can go in and write the

expressions.
(b) Check your expressions to make sure

your answers are equal to the quotient
of 144 + 24.

(c) Which number in (a) makes the
calculation of 144 + 24 the easiest?
Explain why.





Method2 

Number of U.S. stamps=* x 336 = 192
1Number of Canada stamps = 2 x 192 = 96

Number of China stamps = 336 - 192 - 96
= 48

Now, 192 -48 = 144.
There are 144 more U.S. stamps than China stamps.

Try Ill tzf There are 216 coins. � of them are British coins, and the9 

1. 

2. 

rest are Russian and Indian coins. There are .!. as many2 
Indian coins as British coins. How many more British
coins than Russian coins are there?

I 
J 

• BASIC ACTRCE 

Evaluate the following expressions. Change
products that are improper fractions to
mixed numbers.

4 
(a) - X 85 

5 1
(c) - X -

6 5 

9 4
(e) - X -

10 7 

(g)
2 3 -x-
9 11 

(b) 

(d) 

7 3 x-10 
4 3
-x-

7 5 

7 2 
(f) -x-

8 3 

8 15 
(h) 25 x 16

Evaluate the following expressions. Express
any improper fractions to mixed numbers.

8 3 1
(a) - x - (b) 2- x 3

5 4 10

1 3
(c) 2- X -

2 5 

1 3 
(e) 5- X 1-

5 8 

1 9
(d) 3- x -3 7

3 1 
(f) 2- X 1-4 10 

3. Mrs. Lin had � pound of flour. She used�
5 8 

of it to make a cake. How much flour did
she use?

4. A rectangular garden has a length of 3� m5 
and a width of2.! m. What is the area of the2 
garden?

5. Each serving of sorbet is .i.. liter. How
10 

many liters will 2.! servings be?2 

6. A basketball weighs 1� pounds. How many8 
pounds do 16 of these basketballs weigh?

7. Jessica had $460. She spent� of her money4 
on a computer. How much money did she
have left?



1. 

2. 

; BASIC E 

Find the reciprocal of each of the following 
numbers. 
(a) 

5 
(b) 6 

(c) 7 (d) 5�

Evaluate the following expressions. 
5 (a) 6 -a- 7 

. 1 (c) 10-:- -2 
(e) '!... _ 1._ 

8 16 

(b) '!... -a- 2
9 

. 4(d) 6-:- -
7 

(f) 1� + 10
3 21 
4 . 1 (h) 5--:- 3-
9 2 

FURTHER R t,._l[_···ncE: 

3. Evaluate the following expressions.
(a) J__ X '!_ -a- 3 14 9 
(b) (.!. + .!.) x 6 -a-_!.

2 4 3 

1 8 3 5 (C) 3- -;- - - - X -5 15 4 6 
1 3 (d) 5 - 3 -a- 2- x -
4 8 

4. Jane baked a ±-kilogram butter cake. She
5 

gave each of the children in her class �25 
kilogram of the cake. How many children
are there in Jane's class?

5. If 4_!. ounces of silver cost $99, how much2 
does 1 ounce of silver cost?

6. How much almonds will each person get if
20 people share 2 � kilograms of almonds? 

5 

7. 

8. 

MATH<,n \IVORK 

Ltle holds 2¼ liters of juice and a 
small ottl holds � liter. How many times 
as much juice does the large bottle hold as 
compared to the small bottle? 

How many �-cup servings can you get from 
4 

3 8 cups of sauce?

9. essica had 5 ½ meters of ribbon. h u ed
! of it to wrap a present and cut th
1 

remainder of the ribbon into 2. -m ter-1ong
pieces. How many pieces did she get?

10. A road crew can pave ¾ mile of road in
1-!. hours. How many miles ofroad can they

2 

pave in 10 hours?

BRAIN Rl<S 

11. Draw a model to support your answer to
th d. . . . 3 1 e 1v1s1on expression, 

5 
-a-

3
.

12 I 1 . . h a c a d t d t' . n exp ammg w y 6 -a- d = b x �, a s u en s 
proof is as follows: 

a 

a c b ,; + d = c
d 

a d 
-x-

b C 
---

- C d 
-x-

d C 

Is his argument valid? Explain your answer. 







1. Write the following as decimals.
(a) 6 

10 

43(b) 
100 

(c) 5
1,000

(d) 8 tenths 9 thousandths
(e) 1_!_

100 

(f) 4�
1,000

(g) 38

10

(h) 567
100

2. Write the following as decimals.
(a) 9 tens 3 ones 9 tenths
(b) 2 ones 1 tenth 3 hundredths
(c) 5 ones 2 hundredths 1 thousandth
(d) 8 ones 6 tenths 6 thousandths

3. Calculate the following.
(a) 0. 2 7 (b) 2 4 .  3

+ 9 .9 5 + 8.7 8

(c) 1 8 . 9 0 5
+ 3 7 . 4 4

(e) 3 6. 2
-17 .11

(d) 6.0 3
- 5.2 6

(f) 15 . 1 0  3
- 9.47

4. Write in vertical form and then calculate
the following expressions. 
(a) 12.36 + 4.74 (b) 2.305 + 5.5
(c) 7 + 8.804 (d) 3.756 + 0.28
(e) 6.76 - 3.98 (f) 0.8 - 0.47
(g) 3.14 - 1.807 (h) 8 - 0.179

FURTHER CT CE 

5. Express each decimal as a fraction or mixed
number in simplest form.
(a) 1.12
(b) 0.065
(c) 22.06
(d) 3.125

6. Express each fraction as a decimal.

(a) 3
5 

(b) 7
4 

(c) 4�
50 

(d) 2�
8 

7. Calculate the following.
(a) 1.23 + 45.6 + 0.789
(b) 3.46 + 12.8 - 9.23
(c) 15.3 - 1.268 + 3.76
(d) 8 - 0.35 - 2.009
(e) 137 - (3.087 + 0.99)
(f) 65.4 - (42.7 -11.86)
(g) 2.86 + 3.057 - (1.005 - 0.999)
(h) 21 - 9.64 -(1.7 + 5.755)

8. Arrange these numbers in increasing order.
2 3 �. 4.1, 4.088, 4-
25 100 

MATHC<_i> VUORI< 

9. Mr. Bravo bought some tortillas for $3.87
and some beans for $2.67. He paid for the
food using a $10 bill. How much change did
he receive?

10. Eliza, Abbie, and Jackie went shopping.
They spent a total of $200. Eliza spent
$87.50. Abbie spent $58.36. How much did
Jackie spend?





- BASICPRACTIC:E

1. Convert the following.

(a) 1.8 m to centimeters
(b) 4.567 kg to grams

(c) 4.08 L to liters and milliliters

2. Express the following as a decimal.

(a) 3,750 mL in liters
(b) 28.6 cm in meters

(c) 16 km 87 m in kilometers

FURTHERP AC:TICE 

8. Danny has 3.8 meters of ribbon. He uses
1.4 meters to wrap presents, and cuts
the remainder into 8 equal pieces for an
art project. How long is each piece in
centimeters?

9. A large bottle contains 750 milliliters
of juice and a small bottle contains
400 milliliters of juice. A sixth grade class
took 5 large bottles and 12 small bottles
of juice on a field trip. How much juice did
they take in liters?

.,._.. . ,.e .... R_A_,:l
:.:,
N� .... ;;;;;;..;;----=-

3. There are two dogs in a pet store. Mila
weighs 9.5 kilograms. Bailey weighs 850
grams less than Mila. What is Bailey's
weight in kilograms?

4. Stephanie is 1.6 meters tall. Her sister,
Jacqueline, is 4 centimeters taller than her.
How tall is Jacquelin� in meters?

5. One bottle holds 350 milliliters of water.
How much water do five of these bottles
hold in liters?

6. One baseball weighs 150 grams. There is a
bag of baseballs that weighs 2.7 kilograms.
How many baseballs are in the bag? Assume
the weight of the bag is negligible.

7. A store owner has two bags of peanuts,

each weighing 2.4 kilograms. He wants to
put the peanuts in smaller bags that weigh
60 grams each. How many of the smaller
bags of peanuts can he make?

10. The speed of sound has been calculated at
343.2 meters per second.

(a) How many kilometers can sound travel
in 1 minute? Round your answer to the
nearest tenth of a kilometer.

(b) A person hears thunder 10 seconds
after seeing lightning. About how many
kilometers away is that person from
where the lightning struck? Round
your answer to the nearest tenth of a
kilometer.

11. Given that 3.85 x 4.24 = 16.324, find the
values of the following.

(a) 163.24 + 0.004 24

(b) 0.016 324 + 385
(c) 0.0424 X 3,850

12. Samuel is thinking of a number. When he
divides it by 6 and adds 2.3 to the answer,
he gets 4. What number is he thinking of?

13. Rowan divided a 2-digit number by another
2-digit number and obtained 0.781 25 as
the answer. What are the two numbers?





� BASICPRACTICE 

1. Express each temperature in degrees
Celsius using a positive number, a negative
number, or zero.

·c 'F 

"' 
.. 

.. 

.. 

.. 

,. 

" 

.. 

,. 

" 

A B C D 

2. Express the following real-world situations
using positive and negative numbers.
(a) An elevation of 333.75 meters above

sea level
(b) A temperature of 5 degrees below 0°F
(c) A golf score of 10 under par
(d) An elevation of 427 meters below sea

level
(e) A temperature of 20 degrees above 0°C

3. Express the following situations using
positive and negative numbers.
(a) A drop in temperature of 15°F
(b) A credit of $85 to a checking account
(c) A bank deposit of $100
(d) A car driving at 8 miles per hour above

the speed limit
(e) A debit to a checking account of$300.50
(f) A withdrawal of $980.55 from a bank

account
(g) A s.!.-centimeter increase in the height2 

of a plant 

(h) A weight loss of 7 � lb4 

4. The speed limit on a highway is 55 mph.

5. 

The speeds of five cars clocked by radar are
tabulated below.

Speed (mph) 65 50 55 53 60.5 

Express the difference between the speed 
limit and the speed of each car using a 
positive number, a negative number, or 
zero. 

The table below shows the credit and debit 
amounts from Michelle's bank account in 
August. 

I: I: I 

August 5 $240.00 

August9 $125.50 

August 21 $320.00 

August 23 $192.40 

August 30 $71.00 

Use positive or negative numbers to express 
the balance on each day in the table below. 
The initial balance is $100. 

I • •  

August 5 

August9 

August 21 

August23 

August 30 





John's bank account balance shows -$110. How much does 
he owe the bank? Explain your answer in terms of absolute 
value. 

Solution 1-1101 = 110

The size of the debt in dollars is 110. 
John owes the bank $110. 

Try It! �?) Amy's bank account balance shows -$3,000. How much 
does she owe the bank? Explain your answer in terms of 
absolute value. 

EXERCISE '1.2 

1. (a) Represent the numbers 7.5, 5, 0, and

4.! on a horizontal number line. 

(b) Arrange the numbers in ascending
order. 

(c) Arrange the numbers in descending
order.

2. (a) Represent the numbers 10, -10, 0, 6¾,

and 8.5 on a vertical number line. 
(b) Arrange the numbers in ascending

order.
(c) Arrange the numbers in descending

order.

3. Fill in the blanks with >, <, or =.
(a) -57 _ -185
(b) -4_-300
(c) -7_0
(d) 44_444
(e) -60_60

4. Fill in each blank with >, <, or =.

(a) IOl-1-81
(b) 1171-151
<c> l-31-1-71
(d) l500/-l-l,OOO/

FURTHER 

5. Fill in the blanks with >, <, or =.
(a) -41.5 _ -41.05
(b) -28.6 _ -30

(c) o __ ,-4½1 
(d) 57 _ 50.35
(e) -0.007 _ -0.02

6. Fill in each blank with >, <, or =.

(a) 1°1-l-il
(b) l-s%!-l-

4

s
0

I
(c) l-¾1-1-tl
(d) 

l
-
5¼1-5.

2

7. 

8. 

9 





Method 2 

2 3 1--=-
5 5 

3 
- X 100% = 60% 5

60% of the students are non-sixth graders. 

Out of 25 apples in a basket, 18 are green apples and the 
rest are red apples. What percent of the apples are red 
apples? 

I 

7./ 

., BASICPF.."AC:n:cx: 
4. Express each percent as a decimal.

(a) 30.7% (b) 9.05%

1. Express each fraction as a percent.
3 (c) 1-%
4 

(d) 166%

2. 

3. 

(a) 7 (b) 12

20 25

(c) 1� (d) 9
5 4 

Express each decimal as a percent. 
(a) 0.7 (b) 0.07
(c) 1.8 (d) 0.354

Express each 
simplest form. 
(a) 42.5%
(c) 240%

percent as a fraction in 

(b) 0.8%
(d) 3.!.%2 

5. 

6. 

7. 

2 Express - as a percent rounded to one7 
decimal place. 

Of all the beads in a box,� are red beads. 
16 

What percent of the beads in the box are 
red beads? 

Madison wants to buy a dress at a store 
that sells it at "25% off" the regular price. 
What percent of the regular price does she 
have to pay? 



Method 2 
75% = � and the number of boys is equal to � of the 

4 4 

number of girls. 
3 
- X 24 = 18 
4 

Method 3 
100% - 75% = 25% 

There are 25% of 24 more girls than boys in the class. 
25% X 24 = 6 
There are 6 more girls than boys in the class. 
Since there are 24 girls in the class, there are 24 - 6 = 18 
boys in the class. 

There are 18 boys in the class. 

Try It! ll1 There are 31.2% fewer cows than goats on a farm. If there 
are 86 cows, how many goats are there on the farm? 

1. Find the following amounts.
(a) 10% of 40 mi
(b) 50% of $300
(c) 30% of 180 kg
(d) 25% of 68 lb
(e) 70% of 260 m
(f) 75% of 292 kg

2. Find the following amounts.
(a) 110% of $875
(b) 1.2% of 3,000 mi

(c) �% of 760 m
4 

(d) 1 15 % of 54 L
25 

(e) 65% of $680
(f) 14% of 750 L
(g) 27% of 540 kg
(h) 99% of 7,000 km

FURTHER 

3. Brandon had $500. He spent 47% of his
money on a tablet computer. How much did
the tablet computer cost?

4. Maya bought 350 grams of peanuts. She
used 58% of the peanuts to make peanut
butter. How many grams of peanuts did she
use to make peanut butter?

5. A sound system originally costs $412. Angie
bought it on sale for 75% of its original cost.
How much did she pay for the sound system?

6. In a box, 72% of the beads are red beads
and the rest are blue beads. There are
576 red beads. How many beads are there
altogether?

7. 42% of a number is 231. What is the number?





f EXERCISE B. I

BASICPRAC:TNCE 

1. Write an algebraic expression for each of
the following statements.
(a) 7 more than y
(b) 5 less than x
(c) w more than 9.1
(d) p less than¾

2. Write an algebraic expression for each of
the following statements.
(a) The product of n and 17
(b) The product of 8 and p
(e) n to the sixth power
(d) The product of q and �

8

3. Write an algebraic expression for each of
the following statements.

4. 

(a) The quotient when 3x is divided by 5
(b) The quotient when x is divided by 3
(c) The quotient when 2y is divided by 7
(d) The quotient when a is divided by 4

Evaluate the following expressions when
a= 3. 

(a) a+7 (b) 5a

(c) 12-a (d) a
4 

(e) 
a 

(f) 
5

- -a 
3 6

FURTHER PR AC:.:TICE 

5. Write an algebraic expression for each of
the following statements.
(a) 12 plus the quotient of 7x by 10
(b) � more than the product of x and .!

5 3 

(c) 6 minus the product of m and 0.4
(d) 8.2 less than the quotient of n by 8
(e) 2 more than x squared

6.

7. 

8. 

Evaluate the following expressions
X = 5.
(a) 

(b) 

(c) 

(d) 

(e) 

(f) 

(g) 

(h) 

30-2x
2 

x+-

8 + ..=...
10 

4x 
_ 4

3 1 -x+-
4 

0.7x + 2.3
3 

-x + 0.8
10 

x
2

- 5

when

Evaluate the following expressions when
3 X=4· 

(a) 4x+ 3 (b) x--

(c) 7x-3 (d) 0.5 + 12x

(e) 
2 1 

(f) 
4x

-x--
4 5

(g) .=. + 1 (h)
8x --0.5

3 3

MATH(,,,\NORI< 

Nicole and Grace share a birth date, but
Grace is 5 years older.
(a) If Nicole is 15 years old, how old is

Grace?
(b) If Nicole is p years old, how old is

Grace?
(c) If Grace is q years old, how old is

Nicole?



lJse the distributive property to write an equivalent
expression for each of the following. 

'Solution 

(a) 2x + 6 (b) 15 - lOy 

(a) 2x and 6 have a common factor of 2.
2X + 6 = 2 X X + 2 X 3 ;• \ 

= 2 x (x + 3) l 
(i 

= 2(X + 3) 
;• X K i' X :l 

(b) 15 and lOy have a common factor of 5.
15 - lOy = 5 x 3 -5 x 2y l!J lily 

= 5 x (3 - 2y) l 
= 5(3 _ 2y) !, X :\ !J X 2)1 

Use the distributive property to write an equivalent 
expression for each of the following. 
(a) 6n + B (b) 9 - 3x
(c) By+ 4 (d) 14y - 21

f EXERCISE 8.2 
BASIC CTICE 

1. Simplify the following expressions.
(a) 4p + 2p (b) c + 7c
(c) 3n + 2n + n (d) x + x + x + x + x

2. Simplify the following expressions.
(a) lOy - 2y (b) 12x - x -4x

(c) 2m - m + 5m (d) llk - 7k - 4k

3. Simplify the following expressions.
(a) 3y + 2y + 7 (b) 15 + y - y 

(c) 7a - 2a - 3 (d) 13 + 3x - x

4. Determine if the following expressions
are equivalent.
(a) 5p + B and 2p + 6 + 3p + 2
(b) 3x + 5 - x + 2 and 7x + 10 - 5x - 3
(c) B + 5y - 6 - y and By + 9 - 5y - 7
(d) 5t + 9 - t - 6 + 2t and llt + 11 - 7 - 5t

FURTHER PR 

5. Simplify the following expressions.
(a) 3y + 7-y
(b) 6a + 5 + a - 4
(c) 15 + 7q - 10 - q

(d) 5x + 2 - x + 3





Method 2 

�x = 36 
5 

5 3 5 
- X -X = - X 36
3 5 3 

X = 60
The coat cost $60.

Multiply both sides of the equation by 
the reciprocal of¾ 

Try llf Ji Ping took % as much time as Daniel to solve a puzzle.
She took 45 minutes. Write an equation for the problem
and solve it to find how much time Daniel took to solve the
puzzle.

1. 

2. 

3. 

' BASIC RACTICE 

Determine whether x = 3 is a solution of
each equation.
(a) X + 12 = 15 
(c) 7 = 11-x

(b) 21-x = 17
(d) 48 = x + 45

Determine whether y = 12 is a solution of
each equation.
(a) 7y = 82 (b) 72 = 6y
(c) Z = 4

3
(d) 8 = Z

2 

Determine whether x = 8 is a solution of
each equation.
(a) 

(c) 

35 3 
-=x+-
4 4 

2.3x = 18.2
(b) 

3 
-x = 14
2 

(d) 
3 

6 = -x
4 

4. Solve each equation and check your answer.
(a) x + 19 = 52 (b) y - 12 = 14
(c) 61 = n + 37 (d) 26 = p - 38

5. 

6. 

7.

Solve each equation and check your answer.
(a) Bx= 104 (b) !!:. = 23

7 

(c) 112 = .=.
4 

(d) 105 = 15x

FURTHER PR A CTI CE 

Determine whether y = 0.6 is a solution of
each equation.
(a) 5y = 2

2 
(c) -y = 0.4 

3 

(b) 4.2 = 7y
(d) 17.4-y = 18

Solve each equation and check your answer.
3 4 

(a) x + 8 = 11.4 (b) n + - = -

(c) 

(e) 

(g) 

p + 0.7 = 18.5
3 9 

y-- =-
7 14 

2.5 = q -1.7

(d) 

(f) 

10 5 

1 12 = X + -
5 - =y-6
8 



(c) 0 :,;:; t ,,;:; 30, where t represents the number of minutes
Kini can read. IJ 'CUS!i 

0 5 10 15 20 25 30 35 

Why is the inequality not 
t,;;; 30? What is the reason 
for specifying t;;;. O? 

iry:111 n
----� 

For each situation, write an inequality, and graph the 
solution for the inequality on a number line. 
(a) Jeremy has at least $12 in his wallet.
(b) Tom has at most 50 stamps in his album.
(c) Aisha can run no faster than 8 km per hour.

( EXERCISE 9.2 

BASIC PRACTICE 

1. Determine if 3 is a solution of the following
inequalities.
(a) X > -4
(b) x < 3.1
(c) X > 3

2. Determine if -7 is a solution of the following
inequalities.
(a) X < -6.8
(b) x > 0

2 
(c) X > -7-

3 

3. Graph the solution for each of the following
inequalities on a number line.
(a) x > -8 (b) x ;;;, 1
(c) x ,,;:; -4 (d) x < 9

FURTHER PRACTICE 

.....___, 

4. Determine if-� is a solution of the following
6

inequalities.
(a) X < 1

5 

(b) x ,,;:; -0.999
4 

(c) X > --
3 

5. Determine if0.8 is a solution of the following
inequalities.

1 
(a) X > -

2 

(b) x < -800
(c) X;;;, -1.86

6. Graph the solution for each of the following
inequalities on a number line.

1 
(a) X > -3-

2 

(b) x,,;:; 1.75 
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